Measure of the PAX cell conductance closed by clamps along the Cell wings.

measurements of 15 may 2013
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[10/11/2014 17:42 "/Graph8" (2456971 [10/11/2014 17:37 "/Grapha" (2456971).

Y =A+B1*X +B2*XA2

Paramet: Value Error Parame Value  Error
A 2.96E-05 3.35E-05 A 228604 5.19E-05
B1 557606 427607 Bl 658E06 3.15E-07
B2 214608 123609 B2 217608 434E-10
R-Square SD N P R-Squar SD N P 4
08766 287E-04 5103 <0.000 0.9854 3.13E-04 3232 <0.0001  <0.0001
Vea OV syx 1.01E-04 syx  3.78E-05
| |
06967 0.0025
MKS zero 8.71€-08 1.89E-07
KR cold cathode gauge
MKS BG_B 4.90E-07 2.336-07 PBR Hot Cathode Gauge
x v
Calibration  QcalFile Pz OP cal OP cal P ks OP ks OP ks P OPmp  OPwr Pps OPps  OPps Pur  OPun OPcc  Prag OPpsr  OPgpg Qu 0Qufit 3Qufit  Ci Cea (MKS) OCCell ¢ CellBG  MKS/IMR Ceen (IMR)  Deell
Used mbar mbar Pear mbar mbar P ks mbar mbar P, mbar  mbar Pos mbar  mbar Pg  mbar mbar P mbarlst Qe 1s? 15t 1s? 15t
300 75 7518 006174  8E04  420E05 526607  1E02 227605 661E-08 3.E-03 033 41603 1E02 242607 4E-10 2E-03 304607 1E09  4.E03 3.56E-04 2.00E-04 S6E-01 4.73E06 85 49 85 185 15.68 5
300 150 15368  9.46E-02 6.E-04  1056-04  4.31E-07  4.E03  550E-05 7.55E-08 1E03 0.82 49E03 6.E07 578610 6.E-10 LE+00 7.48E-07 7.E10  9.E04 9.28E-04 2.00E-04 22601 6.04E-06 8.8 20 838 192 16.89 4
300 225 22511 003008 LE04  179E-04  516E-07  3.E03  9.20E-05 923608 1E03 132 32603 2603 1056-06 LE-09 1E03 124E06 1E09  1E03 161E-03 200804 12601 75606 9.0 12 2.0 194 17.48 2
600 225 22511 003008 LE-04  179E-04  516E-07  3.E03  9.20E-05 923608 1E03 132 32603 2603 1056-06 LE-09 1E03 124E06 1E-09  1E03 164E-03 2.18E-04 13601 729606 9.2 13 92 194 17.83 2
600 375 37711 250602 7.605 392604 604E-07 2603 197604 247E-07 1E03 251 51E-03 2603 237606 S.E-09 2603 278606 LE08  4.E03 3736-03 218604 S5.9E-02 988606 95 06 95 199 18.87 1
600 550 528697 003145  6.E05 71604 239607 3.604 341604 360E-07 1E03 3.80 48603 L1E03 420606 4.E-09 8E04 4.86E06 O.E-09 203 650E-03 218604 3.4E-02 123605 9.1 03 92 208 19.05 1
231606 9.02 903 197 18.02 8
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